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Choose the correct option for the following questions.        1 × 15 = 15 

 

1. The physical quantity which is not dimensionless is –  

a. Refractive index of a medium 

b. Frequency  

c. Relative density 

d. Angle  

Ans: b. Frequency  

2. The dimension of pressure is –  

a. 𝑀𝐿−2𝑇−2 

b. 𝑀−1𝐿−1 

c. 𝑀𝐿𝑇−2 

d. 𝑀𝐿−1𝑇−2 

𝐴𝑛𝑠:  d. 𝑀𝐿−1𝑇−2 

3. The dimension of Young’s modulus is equal to the dimension of –  

a. Force 

b. Momentum 

c. Pressure  

d. Energy  

Ans: c. Pressure  

4. The dimension of acceleration due to gravity is –  

a. 𝐿𝑇2 

b. 𝐿𝑇 

c. 𝐿𝑇−1 

d. 𝐿𝑇−2 

𝐴𝑛𝑠: d. 𝐿𝑇−2 

5. Dimension of work done or energy is –  

a. 𝑀𝐿𝑇−2 

b. 𝑀𝐿2𝑇2 

c. 𝑀𝐿2𝑇−2 

d. 𝑀𝐿𝑇 

Ans: c. 𝑀𝐿2𝑇−2 

6. The work done by electric current is 𝑊 = 𝑖2𝑅𝑡, where 𝑖 = 𝑒𝑙𝑒𝑐𝑡𝑟𝑖𝑐 𝑐𝑢𝑟𝑟𝑒𝑛𝑡, 𝑅 = 𝑟𝑒𝑠𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑎𝑛𝑑 𝑡 = 𝑡𝑖𝑚𝑒. 

Then the dimension of R will be –  

a. 𝑀𝐿2𝑇−3𝐼−2 

b. 𝑀𝐿2𝑇3𝐼−2 

c. 𝑀𝐿2𝑇−2𝐼−2 

d. 𝑀𝐿2𝑇−3 

Ans: a. 𝑀𝐿2𝑇−3𝐼−2 

 

  



7. The force F on a sphere of radius 𝑟 moving in a medium with velocity 𝑣 is given by 𝐹 = 6𝜋𝑟𝜂𝑣. The dimension 

of 𝜂 𝑖𝑠 −  

a. 𝑀𝐿−3 

b. 𝑀𝐿𝑇−2 

c. 𝑀𝑇−1 

d. 𝑀𝐿−1𝑇−1 

𝐴𝑛𝑠: 𝑀𝐿−1𝑇−1 

8. The dimensional formula of gravitational constant is –  

a. 𝑀−1𝐿3𝑇−2 

b. 𝑀𝐿−1𝑇−1 

c. 𝑀𝐿2𝑇−3 

d. 𝑀𝐿2𝑇2 

Ans: a. 𝑀−1𝐿3𝑇−2 

9.  The displacement of a particle y is given by the equation 𝑦 = 𝑎 𝑆𝑖𝑛 𝑤  
𝑥

𝑣
− 𝑘 , where 𝑥 is measured in cm and 𝑣 

is the linear velocity. The dimension of 𝑘 will be –  

a. 𝑇 

b. 𝑇−1 

c. 𝑀𝑇−1 

d. 𝐿2𝑇−1 

Ans: a. 𝑇 

10. A force is given by 𝐹 = 𝑎𝑡 + 𝑏𝑡2. Where t is time. Then the dimensions of 𝑎 𝑎𝑛𝑑 𝑏 will be –  

a. 𝑀𝐿2𝑇−3, 𝑀𝐿2𝑇2 

b. 𝑀𝐿2𝑇2 , 𝐿2𝑇−1 

c. 𝑀𝐿𝑇−2, 𝑀𝑇−1 

d. 𝑀𝐿𝑇−3, 𝑀𝐿𝑇−4 

Ans: d.  𝑀𝐿𝑇−3, 𝑀𝐿𝑇−4 

11. According to Plank’s quantum theory, the energy of a photon is 𝐸 = ℎ𝛾. Where, 𝛾 is the frequency of the 

photon. Then what will be the dimension of ℎ? 

a. 𝑀𝐿𝑇−1 

b. 𝑀𝑇−1 

c. 𝑀𝐿𝑇 

d. 𝑀𝐿2𝑇−3 

Ans: a. 𝑀𝐿𝑇−1 

12. If the energy(E), velocity (v) and force (F) are taken as fundamental quantities, then the dimension of mass will 

be –  

a. 𝐹𝑣−2 

b. 𝐹𝑣−1 

c. 𝐸𝑣−2 

d. 𝐸𝑣2 

𝐴𝑛𝑠: c. 𝐸𝑣−2 

13. The dimension of  
𝑎

𝑏
 in the equation 𝑃 =

𝑎−𝑡2

𝑏𝑥
, where P is pressure, x is distance and t is time is –  

a. 𝑀𝐿𝑇−1 

b. 𝑀𝑇−2 

c. 𝑀𝑇−1 

d. 𝑀𝐿−1𝑇−1 

Ans: b. 𝑀𝑇−2 

 

 



14. The velocity of a particle at time t is given as 𝑣 = 𝑎𝑡 +
𝑏

𝑡+𝑐
. Where 𝑎, 𝑏 𝑎𝑛𝑑 𝑐 are constants. The dimension of 

𝑎, 𝑏 𝑎𝑛𝑑 𝑐 are respectively –  

a. 𝐿𝑇−2 , 𝐿  𝑎𝑛𝑑  𝑇 

b. 𝐿𝑇2,    𝐿𝑇−2 , 𝑇 

c. 𝐿𝑇−2 , 𝐿2  𝑎𝑛𝑑  𝑇 

d. 𝐿𝑇−2 , 𝐿  𝑎𝑛𝑑  𝐿−1𝑇 

Ans: 𝐿𝑇−2 , 𝐿  𝑎𝑛𝑑  𝑇 

15. In the expression 10  
𝑎𝑥 −𝑏𝑥2

𝑡 , 𝑥 represents distance and t represents time. Then the dimension of 𝑎 𝑎𝑛𝑑 𝑏 

will be –  

a. 𝐿−1𝑇  ,   𝐿−2𝑇 

b. 𝐿−2𝑇  ,   𝐿−1𝑇 

c. 𝐿2𝑇  ,   𝐿
1

2𝑇 

d.  𝐿𝑇−1  ,   𝐿𝑇−2 

Ans: a. 𝐿−1𝑇  ,   𝐿−2𝑇 
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